3rd Israel Open Solving Championship
5 June 2016
CATEGORY 1 - ROUND 1 - SOLUTIONS

1 Israel A. Schiffmann. 1% Prize The Chess Amateur 1928

W

21| 1..Hed + 2. Bxed# 1...50xc3 + 2. 8xc3#

B | 1.Hg6! (5 points) [2.56%]

|| 1..Hed +2.6b4# 1. 5xc3 + 2. 5xe3#

d]| 1. Ped 2 Hoxet# 1.. Bf5 2.Hg5# 1...Hg5 2. Hxg5# 1.. Hxh6 2. Hg5#
1...exd5 2.8xd5# 1...5xb7,5%¢6 2. gxe6#

2

2 Alexandre Bakharev, 2nd Prize Jubilé A. Grin-75, 64 1983

i 1.5)e5 ! [ 2.8%gl+ (1 point) Dd2+/Txfa+3 e3/41d34]

2 i 1...%2d2+ 2.e3+ (1.5 points) Tel,Bdl/Fxe3/ 3. &gl /st
Wi 1...®xdd+ 2. 53+ (1.5 points) Te3, Ted/Txed 3.%d4/LeS#
1. @xf4+ 2.53d3+ (1 point) Fe3 3. A14#

3 Friedrich Chlubna, 3rd HM Schach-Echo 1977

1.0.h7 ! [2.56xf5+ @xed 3.40d6+ (1 point) & xd6/Txd6 4.0.d3#4]
1.5l 2.6%3 [3.5e~ #] 2...fixa3 3.53{1+ (1 point) Fed 4.56,d2%
1..Axh7 2.43d6 [3.4%e~ #] 2...5xd6 3.5x15+ (1 point) Pecd 4.5 1xd6#
1..%&xh7 2.5%5 [3.5%~ #] 2...fxe5 3.53g4+ (1 point) Fcd 4. &xes5#
1...dxc4 2. 8g8 [3.5%e~#] 2...H47 3.43xf5+ (0.5 point) &dS 4.4%e7#
A 2. %xg8 3.5g4+ (0.5 point) Hd5 4.5 xf6#

4 A. Herhtsman, 2™ Prize, Shakhmaty v SSSR 1956 (Mirror)

14 1.9b5 £e6 (1 point) (1...c6 2.53bd6+) 2.8xc7+ (1 point) Hxc7 3.50d6+ Hd8 [3...FHeT 4.60b5+
A | (4.5¢5 Bf6 5.4xh6 TgT 6.48e3 51d5 7.40g5 Bg6) 4...9d8 5.0b6] 4.00b6 (.f1 5.0 e3 (1 point)
& - (5.%el f1a6 6.0e3 FeT) 5..0g8 (5...FeT 6.43c8+ Hd8 7.41d6) 6.£.85+ HNe7 7.Hel (1 point)
2y £1a6 8.£.d2 (1 point) =
A 2| |8..0g69.01g5+ He7 10.0.d2
& 8...5)e6 9.0 a5+ H)c7 10.£.d2

= (4+6)

th

Walter Jorgensen, Thema Danicum 1986 (correction Paz Einat)

4| (1..60f4+ 2. Fe6 £1e6 3.4b7 HdeH)
4 Al 1.Dyed+ Hixel+ 2.Hes5 Hde 3.Hxf5 Hd3#
LAS 2 1O+ Hg3 2.0 ed+ B4 3.0)xc5 Hba#
B | 1.%d4 Ha2 2.0 e4 a6 3.59d5 Hde#
Z A LA 1solution=1 point, 2 solutions = 3 points, 3 solutions = 5 points

2 K KW

H#3 3sol. (7+12)

6 Vladimir Nabokov & Colin R. Flood, 3rd Prize The Problemist 1972-73
iy F Y 1.%¥h2 ! zugzwang. (1 point)
& A A B | 1..gxf6 2.b8=0.F5 3.00g3 f4 4. 42 3 5.00d2 (2 points) fxe2#

A X Wy 1...gxh6 2.%2d2 h5 3.%c3 h4 4. Fxb2 h3 5.%al (2 points) b2#
® 8%
& A

i A

ZARE A
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7 Lev L. Loshinsky, 1st HM Club d Echecs Frankenthal 1957
1.4f1 7He2!1.8d37 Hxd4!1.8g87d5! 1.8d5 7 &e2 !
i 1.£1e6 ! (5 points) [2.71c4#]
Hxdd 28b1# 1. Hxe6 2.8b1#
Wyl 1 %e2 2.%es# 1...dS5 2 WRE
& A X I...dxe6 2.5\c6%
i
(8+7)
8 Marek Kwiatkowski, 3rd HM Springaren 1992
i A 1.%rg6 ! [2.84xc5 (0.75 point)~ 3. 8.d4# 2., AxfS 3 ¥&xf5#]
& i 1...Exed 2.55f4 (0.75 point) [3.63d3#] 2...8xf5/Hxed/Hdd 3.8xf5/ Hb~/Hxd4#
AAK B 1...FHxb5 2.8b4 (0.75 point) [3. 8xc3#] 2... 8xf5/Hxb4/Hxbe+ 3. 8xf5/Hxbd/Hixbe#
Al oty ) 1...Fxc6 2.53d4 (0.75 point) [3.5xf3.50xc6#] 2... OxF5/Exb6+/HeT+ 3. Wxf5/Hxb6/Sxe T#
ALLA 1...Exd5 2.%xg8 (0.75 point) [3.&xd5. &e6# 2...5xe3/Hxd6 3. %23/ Hxd6#
2 & A4l 2||1.e62Hes(0.75 point) [3.5xe6#] 2...Axf5/feT/5eT 3.4xf5/ Yxe6/ Wxfc#
1...exd6 2.Fe8+ (0.25 point) &?.e?;’:ﬁe 7 3. Ewd6. Beo/ Erxfe#
AW || 1 Hhe 2 ¥xfe+ (0.25 nointlexfs 3 [eg#
) (14+0)
9 Valentin F. Rudenko, 15t HM Probleemblad 1974
4 1.0a7![2.a5~3 nda— Fed 4.5%ac5+ Hd4 5.4%4+ (1 point) Fed 6.6 3%
DA 1...fixf4 2.50d7+ ed 3.6 f6+ ext6 4.53¢5+ Bd4 5.463d7+ (1.5 points) Fed 6.5 x16#%
A 1 Hxfl 2,507+ ”'?“eal 3.5hac5+ Bd4 4.40d6 [5.40c~ #] 4...exd6 5.43b7+ (1.5 points) &
= A ~6d3 2.4xd3+ Ped 3.4%ac5+ ©d4 4.a5 ~ 5.4%a4+ (1 point) Ted 6.51¢3#
& i X
SIS0 TR O
A X Wy
(10+12)
10 L. Kubbel. Shakhmaty 1955 (Mirror)
1. a7+ Hd8 (1...%c8 2.{1a5) 2,817 (1 point) b4 (2...%c8 3.{La5) 3.£1xf4 (1 point) (3.8xb4 ¥e5)
i 4 W | 3...%08 4. g5+ He8 5.0.16 (1 point) ¥rh6 6. g8+ Hd7 (6..%5c7 7.4¢g5) 7.41g5 (1 point) Wes
4| | 8.%ds# (1 point)
A
-
&
o5 (3+7)
11 Gennady Kozyura, Mistetski shakhi 2000
i
2i 1.g3 c4 2. g4 cxb5 3. ¥xb5+ ®d4 4.5 Fed 5.FHg5 f3# (2.5 points)
@ 1.4.d7 ¢3 2.%9e6 cxb4d 3.5xb4 4 4. &e7 Ped 5.0d6 £5# (2.5 points)
A d
D i a
A
X
2sol.  (3+16)
12 Walther Jorgensen, dedicated to J. Oudot, feenschach 1971 )
ks 1.00e6 ! [2.535+ %13 3.Hxd3+ (1 point) & wxd3#]
& 1..&a7 2.5¢5 [3 Jl d3+ &xd3#] 2., 8xceS 3. 8xed+ (1.5 points) Txed#
L 1...&d8 2.4 d4 [3.63¢c2+ &xe2#] 2...%xd4 354+ (1.5 points) Txfi#
A 1% 1..g3 2.8h3 ~ 3.Hxg3+ (1 pomt) W34
AE
Py Py
L

(11+13)




